HW p385 14,16,17,18,19

19. The rectangle ABCD has vertices at A(—1, 2, 3}, B(2, 6, —9), and D(3, ¢, 8).
a. Determine the coordinates of the vertex C.

b. Determine the angle between the two diagonals of this rectangle.
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18. The diagonals of a parallelogram are determined by the vectors a=(3,3,0)
and b = (-1, 1, =2).
a. Show that this parallelogram is a rhombus.

b. Determine vectors representing its sides and then determine the length of

these sides. o
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c. Determine the angles in this rhombus.
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17. The vectors ¥ = (—4,p, —2) and ¥ = {—2, 3. 6) are such that cos_J(%) =#,

where 8 is the angle between X and ¥. Determine the value(s) of p. J’
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16. Given the vectors 7 = (1,2, —1) and § = (=2, —4, 2), determine the
components of two vectors perpendicular to each of these vectors. Explain
YOUr answer.
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14. Find the value of p if the vectors ¥ = (p, p, 1) and 5§ = (p, —

perpendicular to each other.
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